© HEINRICH KIPP WERK GmbH & Co. KG

OILIA ZRIT, AHQIZ|A A
&3t
=5

HY/MIE o[0IX]|

ks

HE &Y.

A ZHXE oz Qs &3 AAXI7t HetstE We YXlet7|

I8 AHSE LICH

olE S0i 7|, x|, 77 US4 2 MEO| Zolgt 0 HE EE

Il 2ol Aeeuict,

Bora| olea BRXiE S BTI2 HSELICH 0T 53 &3
ol AHES R E0{7tHLt L2 4 gLt

=3 A3 QX7 222 B 4+ ol 2ol ol & e

AE) MAJ7} QUE BE0| B2 35 HEIE TR ol Astod A

*E|E 4+ AsLc
olmf AFSElE A7|F HAe MM %cm a2 2o DN
C}. ArEH MM MM ECE 215

9 THE % UaLich

FI'F
J\OI'

THE!:

LIAF £2|E, AHIQIZ|A AEl1.4305.
Ol A ZHEX| AHEQIEZIA ARl 1.4034.
IAE A2 02!, NBR.
ZE A2l TPU.
01| E, NdFeB.
II2E HE, AHQIEZ|A AE A2-70.
MHQQMLEW¢S¢XIA2

MM EH, POM, 22 T20Q S20|s.

E9 0p2e|

Z3 &2 E, oot B 3y

U [0| M I2]:

EfelA 2B EHS &8, AZE 2E U5
etelc: 25 &8

71 o |Ef:

3 M

s Qrad: 4-6bar

OqItEl AZX 7|, LU EE F2Y

X|-7|K|' A‘IIA—|

£ 2|§ PNP H|4{Z|(NO)
10 - 30V DC

: 200mA

= ZT: 2kA/m

I}=~: 3000Hz

: 0

otL

- IP67

:2m PUR - 70|

:-25° C ~ +85°C

, c-UL-us, UKCA, WEEE

O H1 my or 0X 1M 40 4o oin oin

O I 50 O HT 0T 0% 02 > 4 ol
M Ho o2 Tl fok > 44 ! 4 £

O o rQ HL Jl I > [> J31 121 iy

On 0k

59
o
h
0z
rx
w2

HI2H R0 AFS.

www.kipp.com - info@kipp.com

1/3



il
4

= b | —
QIEiA ZRIX|, AH|Qla|A AL, SOHA, EIRI A, BHE EHE, Z2UA
StX
=
=5 MY/MIE o0l x|
2= He:
-30 °C ~ +80 °C
MMIME]:
KE71% AlA K2203.
TE&20| = MM B K2204.
=0 Moy,
1) 474 1 - Z oAl atat
3) B MM US
p KI-E OI-E#
=N

| ps
. D4 D3 _
1 .
AR ) . e
— = | T ~
| Y | !
! 5 |
b=
o LNy

L2

—

Pt

—
-

1
B
-
)
\

|
L
sw2 L]

;

S+1’

|

|

|

! .

! n‘g Swi I'\E)

5 |

|

|

-002
DU(M

Y
A

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
= —
QIEA ZEX], ARQIB|A AR ZoM, EIR| A, BHE 8, S
SIX
=1
EZS 29
FEHS EFQJ = 2 B D D1 D2D3 D4 D5 H AEE3 L L1L2L3 L4 L5 SW1 SW2 T
S
K2202.120610 A - - 6 M12x1,5 22 23 M5 - - 10 77 20 10 18 - - 24 19 4
K2202.130815 A - - 8 M16x15 22 23 M5 - - 15 80 26 10 18 - - 24 24 4
K2202.141015 A - - 10 M20x1,5 22 23 M5 - - 15 80 28 10 18 - - 24 30 4
K2202.141215 A - - 12 M20x1,5 22 23 M5 - - 15 80 28 10 18 - - 24 30 4
K2202.1206101 A AMEf MM QUS 35 6 M12x1,5 22 23 M5 2,5 19 10 77 20 10 18 23,5 2000 24 19 4
K2202.1308151 A AEf MM QUS 35 8 M16x1,5 22 23 M5 2,5 19 15 80 26 10 18 23,5 2000 24 24 4
K2202.1410151 A AE MM Q12 3510 M20x1,5 22 23 M5 2,5 19 15 80 28 10 18 23,5 2000 24 30 4
K2202.1412151 A AEf MM U2 3512 M20x1,5 22 23 M5 2,5 19 15 80 28 10 18 23,5 2000 24 30 4
DAEERAZYE
FEHS P=2E = F6=I[AEH F1=21g Fo=AI5 4
HF 6bar 22 Axmalzg Axmalad
(N) (N) (N)
K2202.120610 4-6 83 30 11
K2202.130815 4-6 83 30 11
K2202.141015 4-6 83 30 11
K2202.141215 4-6 83 30 11
K2202.1206101 4-6 83 30 11
K2202.1308151 4-6 83 30 11
K2202.1410151 4-6 83 30 11
K2202.1412151 4-6 83 30 11

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



